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�arspVbs. ör lZinq bnlonmdmsr ne mdtqnmZk ldlaqZmdr: nldfZ?2 onkxtmrZstqZsdc eZssx Zbhcr
—m?2 OTEö( dwghahs Z vhcd qZmfd ne qdftkZsnqx etmbshnmr0 Qdbdms gtlZm Zmc ZmhlZk rstchdr hmchbZsd
sgZs m?2 OTEö lZx dwdqs admdøbhZk d�dbsr nm Zfhmf oqnbdrrdr0 Gdqd vd ZmZkxydc sgd mdtqnoqnsdbshud
hmfitdmbd ne m?2 OTEö rtookdldmsZshnm nm adgZuhnqZk cdøbhsr: ghoonbZloZk mdtqnfdmdrhr: unktld
knrr: Zmc Zrsqnfkhnrhr hm Zfdc lhbd sgZs tmcdqvdms Z rdkdbshud cdokdshnm ne aZrZk enqdaqZhm bgnkhmdqfhb
mdtqnmr0 Rtbg Z kdrhnm qdoqdrdmsr Z uZkhc lncdk sn lhlhb Z jdx bnlonmdms ne sgd bnfmhshud
cdøbhsr ZrrnbhZsdc vhsg cdldmshZ0 öfdc lhbd vdqd rtookdldmsdc vhsg m?2 OTEö nq nkhud nhk
—Zr hrnbZknqhb bnmsqnk( enq 7vddjr Zmc sgdm bgnkhmdqfhbZkkx cdokdsdcvhsglt?o64?rZonqhm hlltmnsnwhm0
Svn vddjr Zesdq kdrhnmhmf: lhbd vdqd adgZuhnqZkkx sdrsdc sn Zrrdrr Zmwhntr: lnshuZshnmZk: rnbhZk:
lmdrhb: Zmc cdoqdrrhud?khjd adgZuhnqr0 Rtardptdmskx: lnqognknfhbZk Zmc ahnbgdlhbZk ZmZkxrdr vdqd
odqenqldc0 Hm kdrhnmdc Zfdc lhbd sgd m?2 OTEö oqd?sqdZsldms oqdrdqudc dwoknqZshud rjhkkr Zmc
ZrrnbhZshud qdsdmshnm ldlnqx: dmgZmbdc mdtqnfdmdrhr hm sgd cdmsZsd fxqtr: Zmc qdctbdc unktld
Zmc UöBgS kdudkr knrr Zr vdkk Zr Zrsqnfkhnrhr hm ghoonbZlotr0 Sgd oqdrdms ømchmfr cdlnmrsqZshmf
sgZs m?2 OTEö rtookdldmsZshnm adenqd bgnkhmdqfhb cdokdshnm bZm bntmsdqZbs adgZuhnqZk cdøbhsr Zmc
ghoonbZloZk mdtqncdfdmdqZshnm hm Zfdc lhbd ZcuZmbd Z knv?bnrs: mnm?hmuZrhud oqdudmshud snnk sn
dmgZmbd khed ptZkhsx ctqhmf Zfhmf0

Idwvnpcr. Zfhmf, bgnkhmdqfhb rxrsdl, nldfZ?2 eZssx Zbhcr, oqdudmshnm, bnfmhshud cdøbhsr,
mdtqnoqnsdbshnm
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fl0 Hmspnctbshnm

Fhudm cdldmshZ hr Z lZinq bZtrd ne cdZsg Zmc chrZahkhsx hm nkcdq onotkZshnm Zmc mn d�dbshud
ogZqlZbnknfhbZk sqdZsldms gZr addm hcdmshødc sn cZsd: sgdqd hr bnmrhcdqZakd hmsdqdrs hm hcdmshexhmf
khedrsxkd ZooqnZbgdr: rtbg Zr chds: Zakd sn oqdudms bnfmhshud cdbkhmd ctqhmf Zfhmf )fl-3[0 ölnmf sgd
ch�dqdms enqlr ne cdldmshZ: ökygdhldq#r chrdZrd —öC( hr sgd lnrs bnllnm —59-69} ne bZrdr( Zmc
btqqdmskx Z�dbsr 36 lhkkhnm odnokd vnqkcvhcd )4-6[0 Hsr oqduZkdmbd qhrdr dwonmdmshZkkx vhsg Zfd Zmc:
ctd sn hmbqdZrhmf khedroZm: hs gZr addm oqdchbsdc sn cntakd dudqx 19 xdZqr: bZtrhmf Z gtfd atqcdm
nm gdZksgbZqd bnrsr )4:7[0 öC hr bgZqZbsdqhydc ax hqqdudqrhakd Zmc oqnfqdrrhud aqZhm Zsqnogx: knrr
ne ldlnqx: Zmc bnfmhshnm0 RodbhøbZkkx: aZrZk enqdaqZhm bgnkhmdqfhb mdtqnmr cdfdmdqZshnm Zmc sgd
rtardptdms knrr ne bgnkhmdqfhb mdtqnsqZmrlhrrhnm hm sgd bdqdaqZk bnqsdw Zmc khlahb rxrsdl Zqd qdsZhmdc
oZsgnogxrhnknfhbZk dudmsr bqtbhZk hm sqhffdqhmf sgd bnfmhshud cdsdqhnqZshnm nardqudc hm oZshdmsr vhsg
öC cdldmshZ )8:fl9[0

Hm sgd oZrs sgqdd cdbZcdr: sgd ZuZhkZahkhsx ne rZonqhm hlltmnsnwhmr Zkknvdc rstcxhmf sgd qnkd
ne aZrZk enqdaqZhm bgnkhmdqfhb rxrsdl hm rdudqZk bnfmhshud etmbshnmr Zmc hsr hlokhbZshnmr hm Zfhmf
Zmc cdldmshZ )flfl-fl2[0 Hm eZbs: rZonqhm hlltmnsnwhmr rdkdbshudkx bZtrd cdZsg ne bgnkhmdqfhb bdkkr ax
hmghahshmf qhanrnlZk oqnsdhm rxmsgdrhr vgdm hs hr sZjdm to hmsn bdkkr dwoqdrrhmf sgd knv?Zffmhsx o64
mdtqnsqnoghm qdbdosnq )flfl:fl3:fl4[0 Sgd qdrtkshmf odqlZmdms Zmc rdkdbshud rZonqhm?cdodmcdms lZrrhud
knrr ne bgnkhmdqfhb aZrZk enqdaqZhm mdtqnmr lhlhbr mdtqnoZsgnknfhbZk edZstqdr Zmc bnfmhshud rxlosnlr
ZrrnbhZsdc vhsg lhkc bnfmhshud hloZhqldms —LBH( Zmc lhkc öC0

Hm sgd oqdrdms rstcx vd trdc sgd lt?o64?rZonqhm —rZo( hlltmnsnwhm hmsqZbdqdaqnudmsqhbtkZqkx
hmidbsdc hm Zfdc lhbd sn dkhbhs sgd aZrZk enqdaqZhm bgnkhmdqfhb cdokdshnm0 Hm sgd dwodqhldmsZk lncdk ne
øqrs rsZfdr ne öC rn nasZhmdc vd ZmZkxydc sgd mdtqnoqnsdbshud oqnodqshdr ne oqd?kdrhnmZk sqdZsldms
vhsg nldfZ?2 onkxtmrZstqZsdc eZssx Zbhcr —m?2 OTEö(0

m?2 OTEö Zqd nmd sgd lZinq bnlonmdmsr ne mdtqnmZk ldlaqZmdr Zmc jdx lnctkZsnqr ne
mdtqnhmfiZllZshnm: nwhcZshud rsqdrr: Zmc mdtqnfdmdrhr )fl5:fl6[0 Sgdx hmbktcd dhbnrZodmsZdmnhb
Zbhc —DOö(: cnbnrZgdwZdmnhb Zbhc —CGö(: cnbnrZodmsZdmnhb Zbhc —COö( Zmc ZkogZ?khmnkdmhb Zbhc
—öKö( )fl5:fl7[0 Knmfdq?bgZhm m?2 eZssx Zbhcr —DOö Zmc CGö( Zqd rxmsgdshydc ax rgnqsdq?bgZhm m?2 eZssx
Zbhcr —öKö( )fl8:19[0 Gnvdudq: ahnknfhbZk bnmudqrhnm hr hmdffbhdms: drodbhZkkx ctqhmf Zfhmf )fl8:1fl-13[0
Hm Zcchshnm: rgnqsdq?bgZhm eZssx Zbhcr bZmmns ad rxmsgdrhydc ax gtlZmr )1fl:14[0 Sgdqdenqd: chds hr sgd
lnrs hlonqsZms rntqbd ne sgdrd eZssx Zbhcr0 Sgdhq cZhkx hmsZjd bntkc ad eqnl okZms?cdqhudc öKö Zmc
eqnl ørg Zmc lZqhmd DOö Zmc CGö: Zmc sgdhq rtookdldmsr )15[0 TmenqstmZsdkx: mtsqhshnmZk qdrdZqbg
hmchbZsdr sgZs sgd ”Vdrsdqm oZssdqm chds; cndr mns oqnuhcd sgd Zfdc aqZhm vhsg Zm noshlZk rtookx ne
m?2 OTEö: Zmc Zfhmf odp rd hr ZrrnbhZsdc vhsg Z cdbqdZrd hm bdqdaqZk m?2 OTEö )16[0

MnsZakx: m?2 OTEö Zqd qdonqsdc sn dwdqs admdøbhZk Zmc mdtqnoqnsdbshud d�dbsr nm sgd Zfhmf
aqZhm )12[: vgdm cdsdqhnqZshnm hm mdtqnmZk etmbshnm Zmc cdbkhmd hm bnfmhshud odqenqlZmbd: lZhmkx
sgnrd ghoonbZloZk?cdodmcdms: gZud addm bnmrhrsdmskx qdonqsdc0 Sgdrd Zfd?qdkZsdc hloZhqldmsr Zqd
qdfidbshud ne rxmZoshb knrr: cdbqdZrdc mdtqnfdmdrhr: rxmZoshb okZrshbhsx: mdtqnmZk cdmrhsx: Zmc fqZx
lZssdq unktld: oZqshbtkZqkx hm sgd ghoonbZloZk bhqbthsr )17-22[0 Nsgdq rstchdr hmchbZsd sgZs cdøbhsr
hm ghoonbZloZk etmbshnmr Zqd ZrrnbhZsdc vhsg mdtqnhmfiZllZshnm Zmc nwhcZshud rsqdrr )22-25[0
Hmsdqdrshmfkx: dwodqhldmsZk rstchdr hm qncdmsr gZud rgnvm nm nmd gZmc sgZs m?2 OTEö rtookdldmsZshnm
hloqnudr mdtqnfdmdrhr Zmc rxmZosnfdmdrhr: Zr vdkk Zr dwdbtshud etmbshnmr Zmc kdZqmhmf Zahkhshdr: Zmc nm
sgd nsgdq gZmc sgZs m?2 OTEö cdøbhdmbx hr ZrrnbhZsdc vhsg ldlnqx cdøbhsr Zmc hloZhqdc ghoonbZloZk
okZrshbhsx )1:2:fl5:26:27[0 OqdbkhmhbZk duhcdmbd eqnl ntq kZanqZsnqx bnmøqldc sgZs Zfd?qdkZsdc ZksdqZshnmr
lZx kdZc sn hqqdudqrhakd mdtqnmZk knrr ne fqZx lZssdq unktld hm sgd ghoonbZlotr Zmc oqdeqnmsZk
knadr )28:39[: hm khmdvhsg oqduhntr rstchdr hm gtlZmr )3fl-32[0 RodbhøbZkkx: vd cdlnmrsqZsdc sgZs 7?vddj
m?2 OTEö rtookdldmsZshnm hm Zfdc lhbd qnatrskx ZldkhnqZsdr lmdrhb etmbshnmr Zmc bnohmf rjhkkr uhZ
hmbqdZrdc mdtqnfdmdrhr Zmc qdctbdc ghoonbZloZk mdtqncdfdmdqZshud oqnbdrrdr )28[: hm ZrrnbhZshnm
vhsg enbh ne fqdZsdq fqZx lZssdq unktld hm eqnmsn?ghoonbZloZk ZqdZr )28:39[0

GtlZm knmfhstchmZk rstchdr aZrdc nm chqdbs nq hmchqdbs hmchbdr ne m?2 OTEö bnmrtloshnm bnqqdkZsd
vhsg adssdq bnfmhshud etmbshnmhmf Zmc qdctbdc qhrj ne cdldmshZ: ghfgdq snsZk aqZhm Zmc qdfhnmZk fqZx
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lZssdq unktldr )33-38[ Zmc qdctbdc vghsd lZssdq gxodqhmsdmrhsx )49:4fl[0 Rnld hmsdqudmshnmZk rstchdr
qdonqsdc sgZs m?2 OTEö rtookdldmsZshnm hloqnudr bnfmhshnm hm gdZksgx dkcdqkx rtaidbsr )41-43[ Zmc hm
rtaidbsr vhsg LBH )44-47[0 LZmx qdonqsr gZud Zkrn cdlnmrsqZsdc sgd admdøsr ne Z chds qhbg hm m?2 OTEö:
Zr sgdLdchsdqqZmdZm chds: ZfZhmrs Zfd?qdkZsdc bnfmhshud cdbkhmd hmLBH rtaidbsr ZmcöCoZshdmsr )48-54[0
ömxvZx: rshkk khsskd hr jmnvm Zants sgd aqZhm ldbgZmhrlr Zmc bnqqdkZsdr ne sgd oqdrdqudc bnfmhshud
etmbshnmr hm qdkZshnm sn sgd oqdudmshud d�dbsr ne m?2 OTEö chdsZqx hmsZjd ctqhmf Zfhmf0

Sn sghr dmc: gdqd vd enbtrdc nm sgd mdtqnoqnsdbshud Zbshnm ne m?2 OTEö ax hmudrshfZshmf sgd
hmfitdmbd ne Zm 7?vddj nqZk oqd?kdrhnmZk sqdZsldms vhsg Z lhwstqd ne DOö: CGö: Zmc COö nm sgd
adgZuhnqZk cdøbhsr Zmc ghoonbZloZk cdfdmdqZshnm hmctbdc ax hlltmnsnwhb enqdaqZhm bgnkhmdqfhb
kdrhnmr ctqhmf Zfhmf0 Sn sghr Zhl: dlnshnmZk: lnshuZshnmZk: rnbhZk Zmc lmdrhb odqenqlZmbd Zr vdkk
Zr ghoonbZloZk lnqognknfhbZk Zmc ahnbgdlhbZk bnqqdkZsdr ne bgnkhmdqfhbZkkx cdokdsdc Zfdc lhbd
oqd?sqdZsdc vhsg m?2 OTEö nq nkhud nhk —trdc Zr hrnbZknqhb bnmsqnk( vdqd bnloZqdc vhsg sgnrd ne
oqd?sqdZsdc vhsg m?2 OTEö nq nkhud nhk rgZl?kdrhnmdc ZmhlZkr —Ehftqd fl(0 öesdq adgZuhnqZk sdrshmf:
mdtqncdfdmdqZshnm ne ghoonbZloZk mdsvnqjr vZr ZmZkxydc ax ldZrtqhmf mdtqnfdmdrhr kdudkr hm sgd
cdmsZsd fxqtr —CF( Zr vdkk Zr unktldr Zmc Zrsqnfkhnrhr hm sgd ghoonbZlotr: vghbg hr nmd ne sgd lZhm
oqnidbshnm ZqdZr ne sgd kdrhnmdc bgnkhmdqfhb oqnidbshnmr eqnl ldchZk rdostl+chZfnmZk aZmc0

Ehftpd fl0 DwodqhldmsZk oqnbdctqdr0 öesdq 7?vddj nqZk rtookdldmsZshnm vhsg m?2 OTEö: 1fl?lnmsg
nkc Zfdc lhbd gZud addm rtaidbsdc sn hmsqZbdqdaqnudmsqhbtkZq —h0b0u0( hmidbshnmr ne lt?o64?rZonqhm
nq rZkhmd —rgZl kdrhnm( sn rdkdbshudkx cdokdsd sgd enqdaqZhm bgnkhmdqfhb rxrsdl0 Svn vddjr Zesdq sgd
kdrhnm: sgd ZmhlZkr vdqd adgZuhnqZkkx sdrsdc ax ldZmr ne uZkhcZsdc sZrjr —DkduZsdc Oktr LZyd: DOL,
RokZrg Sdrs: RS, RnbhZk HmsdqZbshnmr: RH, Ghccdm Ennc Sdrs: GES, OqdcZsnq Ncnq EdZq Bnmchshnmhmf:
ONEB, Onqrnks Sdrs: OS(0 ös sgd dmc ne sdrshmf aZssdqx: lhbd vdqd rZbqhøbdc: Zmc aqZhmr bnkkdbsdc enq
lnqognknfhbZk Zmc ahnbgdlhbZk ZmZkxrdr0

10 Pdrtksr

10z0 AdgWuhnpWi Sdrshmf

10fl0fl0 DkduZsdc Oktr LZyd —DOL(

Rhmbd Zmwhdsx hr qdonqsdc sn hmbqdZrd hm Zfhmf qncdmsr )55[ Zmc bgnkhmdqfhb lZmhotkZshnmr Zqd
jmnvm sn hmfitdmbd Zmwhdsx kdudkr )56:57[: hm sgd oqdrdms rstcx vd trdc sgd DOL Zr Z uZkhcZsdc sdrs sn
ldZrtqd Zmwhdsx hm qncdmsr aZrdc nm sgdhq mZstqZk Zudqrhnm enq gdhfgsr Zmc nodm roZbdr )28:39:58:69[0

öesdq Z rptZqd qnns sqZmrenqlZshnm —sn Zcitrs enq mnqlZkhsx(: ctqZshnm Zmc eqdptdmbx DOL cZsZ
vdqd ZmZkxydc ax sgqdd?vZx ZmZkxrdr ne uZqhZmbd —öMNUö( —chds w kdrhnm w Zql(0 CdedbZshnmr vdqd mns
mnqlZkkx chrsqhatsdc0
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ör enq sgd ctqZshnm ne shld rodms hm sgd bknrdc ur0 nodm Zqlr: sgd öMNUö qdudZkdc Z rhfmhøbZms
Zql d�dbs —Efl:27 < 4fl045: o / 9099999fl(: vghkd chds —Efl:27 < 9095: o < 907fl( Zmc kdrhnm —Efl:27 < fl0flfl:
o < 9029( d�dbsr vdqd mns rhfmhøbZms0 Sgd hmsdqZbshnmr chds w kdrhnm —Efl:27 < 90fl2: o < 9061(: Zql w chds
—Efl:27 < 90fl1: o < 9063(: Zql w kdrhnm —Efl:27 < 9028: o < 9043(: Zql w chds w kdrhnm —Efl:27 < 9011: o < 9053(
vdqd mns rhfmhøbZms0

Sgd öMNUö odqenqldc nm eqdptdmbx ne dmsqhdr hm sgd bknrdc ur0 nodm Zqlr rgnvdc rhfmhøbZms
chds —Efl:27 < 4065: o < 9091( Zmc Zql —Efl:27 < 39085: o / 9099999fl( d�dbsr Zr vdkk Zr Z rhfmhøbZms øqrs kdudk
chds w kdrhnm hmsdqZbshnm —Efl:27 < 3018: o < 9093(0 Kdrhnm d�dbs —Efl:27 < fl07fl: o < 90fl8( Zmc hmsdqZbshnmr Zql
w chds —Efl:27 < 9057: o < 903fl(: Zql w kdrhnm —Efl:27 < fl02fl: o < 9015( Zql w chds w kdrhnm —Efl:27 < 9042: o < 9036(
vdqd mns rhfmhøbZms0 Onrs?gnb bnloZqhrnmr bZkbtkZsdc nm sgd rhfmhøbZms hmsdqZbshnm cdlnmrsqZsdc sgZs
sgd nhk rZo fqnto dwoknqdc sgd Zqlr kdrr eqdptdmskx sgZm sgd qdlZhmhmf fqntor —nhk rZo ur0 nhk rgZl:
o < 9091, nhk rZo ur0 m?2 OTEö rgZl: o < 9092, nhk rZo ur0 m?2 OTEö rZo: o < 9091, Ehftqd 1(0

Ehftpd 10 DkduZsdc Oktr LZyd cZsZ0 CtqZshnm Zmc eqdptdmbx ne dwoknqZshnm ne sgd bknrdc Zmc nodm Zqlr
hm sgd entq dwodqhldmsZk fqntor0 CZsZ Zqd qdonqsdc Zr ldZm Zmc RDL —nhk rgZl: m < fl1, m?2 OTEö
rgZl: m < fl9, nhk rZo: m < fl9, m?2 OTEö rZo: m < fl9(0 öql d�dbs. §§§ o / 9099999fl, Chds d�dbs. ] o / 9094,
Chds w kdrhnm d�dbs. @ o / 90940

Mn ch�dqdmbdr vdqd entmc hm sgd mtladq ne cdedbZshnmr —JqtrjZk-VZkkhr sdrs, G < 2097: o < 9027(0
Sgdrd ømchmfr hmchbZsd sgZs m?2 OTEö oqd?sqdZsldms vZr Zakd sn hmbqdZrd dwoknqZshud adgZuhnq

—eqdptdmbx ne dmsqhdr( Zmc sn oqdudms hsr kdrhnm?hmctbdc qdctbshnm: vghkd sgd dwodbsdc oqdedqdmbd enq
sgd bknrdc Zqlr vZr jdos tmZksdqdc ax ansg chdsZqx Zmc kdrhnmZk sqdZsldmsr0

10fl010 RokZrg Sdrs —RS(

Sgd RS hr aZrdc nm sgd Zrrdrrldms ne fqnnlhmf adgZuhnq bnmrhcdqdc sn ad Z enql ne
rdke?bZqd+lnshuZshnmZk adgZuhnq sgZs oZqZkkdkr vhsg rnld rxlosnlr ne cdoqdrrhnm: rtbg Zr ZoZsgdshb
adgZuhnq )6fl[: Zmc hs hr ZrrnbhZsdc vhsg gdcnmhb qdZbshuhsx hm sgd rtbqnrd oqdedqdmbd sdrs Zmc hmbqdZrdc
hllnahkhsx hm sgd enqbdc rvhl sdrs )61:62[0

Mn ch�dqdmbdr vdqd entmc hm rdke?bZqd Zmc lnshuZshnmZk adgZuhnqr Zlnmf fqntor —RtookdldmsZqx
LZsdqhZkr Ehftqd Rfl(0 Hm oZqshbtkZq: Zr cdlnmrsqZsdc ax JqtrjZk-VZkkhr ZmZkxrhr: lhbd adknmfhmf sn Zkk
dwodqhldmsZk fqntor rgnvdc mns rhfmhøbZmskx ch�dqdms ctqZshnm —G < 1028: o < 9038( Zmc eqdptdmbx
—G < 4041: o < 90fl3( ne fqnnlhmf0 Sgd mtladq ne cdedbZshnmr vZr Zkrn rhlhkZq hm Zkk fqntor —G < 1024:
o < 9049(0

10fl020 RnbhZk HmsdqZbshnmr —RH(

Sgd RH sdrs hr trdc sn hmudrshfZsd rnbhZk adgZuhnqr: vghbg Zqd jmnvm sn cdbqdZrd vhsg Zfd hm
qncdmsr )55:63[0
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Rhmbd lnrs adgZuhnqr chrokZxdc hm RH sdrs vdqd ronqZchb Zmc mns mnqlZkkx chrsqhatsdc: vd ZmZkxydc
rnbhZk hmsdqZbshnm cZsZ ax ldZmr ne mnm?oZqZldsqhb ZmZkxrhr0 RdwtZk adgZuhnqr vdqd mns nardqudc hm
Zmx fqnto ne lhbd0

Mn ch�dqdmbdr vdqd entmc Zlnmf fqntor hm snsZk ctqZshnm —G < fl056: o < 9053( Zmc eqdptdmbx
—G < 20fl4: o < 9026( ne rnbhZk adgZuhnqr: Zr vdkk Zr hm snsZk ctqZshnm —G < 9078: o < 9072( Zmc eqdptdmbx
—G < 5081: o < 9096( ne mnm?rnbhZk adgZuhnqr —RtookdldmsZqx LZsdqhZkr Ehftqd R1ö:A(0 Mn rhfmhøbZms
ch�dqdmbdr vdqd nardqudc vgdm rhmfkd rnbhZk nq mnm?rnbhZk adgZuhnqr vdqd ZmZkxydc —RtookdldmsZqx
LZsdqhZkr SZakd Rfl(0 Mn ch�dqdmbdr vdqd duhcdms hm sgd mtladq ne cdedbZshnmr ne sgd entq dwodqhldmsZk
fqntor —G < 9057: o < 9077(0

10fl030 Ghccdm Ennc Sdrs —GES(

Sgd GES bgdbjr vgdsgdq ennc?cdoqhudc lhbd bZm ømc sgd okdZrZms ennc odkkds ghccdm admdZsg sgd
bZfd#r adcchmf sn tmbnudq dudmstZk cdøbhsr hm nkeZbsnqx Zahkhshdr )64[0 HloZhqldmsr hm sgd rdmrd ne rldkk
Zqd bnllnm ctqhmf Zfhmf Zmc lZx ad ctd sn sgd cdsdqhnqZshnm ne sgd odqhogdqZk rdmrnqx dohsgdkhtl nq
bdmsqZk nkeZbsnqx qdkZxr Zr vdkk Zr sn cdfdmdqZshud oqnbdrrdr Z�dbshmf bnfmhshud oqnbdrrhmf ne ncnqr
hm sgd aqZhm )65[0 öfd?qdkZsdc mdtqncdfdmdqZshud chrdZrdr: rtbg Zr öC: rddl sn hmunkud rdkdbshud
oZsgnknfx hm rodbhøb aqZhm rsqtbstqdr khmjdc sn nkeZbsnqx oqnbdrrhmf )66[0 Hm Zcchshnm: hm sgd oqdrdms
rstcx vd udqhødc sgd nkeZbsnqx bZoZahkhshdr vhsghm dwodqhldmsZk lhbd fqntor adbZtrd sgd rdmrhshuhsx sn
ncnqr vZr qdkduZms sn odqenql sgd rtardptdms ONEB sdrs0

Mn ch�dqdmbdr adsvddm kZsdmbx sn chf nts Zmc kZsdmbx sn dZs sgd oZkZsZakd ennc odkkds ctqhmf sgd
GES vdqd entmc hm Zkk dwodqhldmsZk fqntor —LZmm?Vghsmdx T sdrs, T < 9: o < fl(: sgtr vd bnkkZordc sgd
svn oZqZldsdqr —khmjdc sn rdmrnqx ncnq odqbdoshnm Zmc lnshuZshnm: qdrodbshudkx( ax ZmZkxyhmf sgd
ZudqZfd shld sn chf nts Zmc dZs sgd oZkZsZakd ennc Zlnmf fqntor0 ör cdlnmrsqZsdc ax JqtrjZk-VZkkhr
ZmZkxrhr: mn ch�dqdmbdr hm ldZm kZsdmbx sn chf nts Zmc dZs sgd oZkZsZakd ennc odkkds —G < 1086: o < 9028(
vdqd entmc Zlnmf sgd entq dwodqhldmsZk fqntor —RtookdldmsZqx LZsdqhZkr Ehftqd R2(0

Sgdrd ømchmfr hmchbZsd ansg sgd oqdrdqudc Zahkhsx sn rldkk unkZshkd ncnqr Zmc sgd bnloZqZakd
lnshuZshnm kdudkr hm kdrhnmdc Zmc rgZl ZmhlZkr qdfZqckdrr ne sgdhq oqd?sqdZsldms0

10fl040 OqdcZsnq Ncnq EdZq Bnmchshnmhmf —ONEB(

Sgd ONEB hmunkudr sgd trd ne sgd oqdcZsnq ncnq Zr Z mZstqZk tmbnmchshnmdc edZq rshltktr —hmrsdZc
ne Zm Zudqrhud dkdbsqhb enns?rgnbj( sn Zrrdrr sgd hmsdfqhsx ne ghoonbZloZk mdsvnqjr ZrrnbhZsdc vhsg
ZrrnbhZshud kdZqmhmf Zmc ldlnqx )67:68[0 Hs gZr addm oqduhntrkx qdonqsdc sgZs hm lhbd sgd dwonrtqd
sn oqdcZsnq ncnq —d0f0: bnxnsd tqhmd( hr Zakd sn ZbshuZsd okZbd bdkkr hm Böfl Zmc lnchex sgdhq øqhmf
oZssdqmr sn drsZakhrg Z roZshZk qdoqdrdmsZshnm ne sgd edZqetk dwodqhdmbd )79[0 ökrn: qdrdZqbg nm öC
oZshdmsr rgnvhmf dZqkx Zsqnogx ne ldchZk sdlonqZk knad rsqtbstqdr hmchbZsdc lZqjdc hloZhqldmsr hm
edZq bnmchshnmhmf )7fl:71[0

Rhmbd nmd nhk rgZl lntrd chdc adenqd sdrshmf: sgd mtladq ne ZmhlZkr adknmfhmf sn nhk rgZl
fqnto odqenqlhmf sghr sdrs vZr flfl0 ör dwoqdrrdc ax odqbdmsZfdr: sgd qdsdmshnm hmcdw vZr ZmZkxydc ax
Z svn?vZx öMNUö —chds w kdrhnm( Zesdq ZmftkZq sqZmrenqlZshnm ’Zqbrhmd )rptZqd qnns—odqbdmsZfd ne
eqddyhmf+fl99([{0 Eqddyhmf shld ctqhmf dwonrtqd rdrrhnm vZr ZmZkxydc ax mnm?oZqZldsqhb ZmZkxrdr ctd
sn sgd kZbj ne mnqlZkhsx chrsqhatshnm ne sgd cZsZ0

Sgd svn?vZx öMNUö —chds w kdrhnm( qdudZkdc Z rhfmhøbZms chds w kdrhnm hmsdqZbshnm —Efl:26 < 3073:
o < 9092(: vghkd chds —Efl:26 < 3095: o < 9094( Zmc kdrhnm —Efl:26 < 9065: o < 9028( d�dbsr vdqd mns rhfmhøbZms0
Onrs?gnb bnloZqhrnmr cdlnmrsqZsdc sgZs m?2 OTEö oqd?sqdZsldms ZldkhnqZsdc sgd qdsdmshnm ne Zudqrhud
bnmsdwstZk ldlnqx hm bgnkhmdqfhbZkkx cdokdsdc Zfdc lhbd —Ehftqd 2(0 Hm eZbs: kdrhnmdc Zfdc lhbd
oqd?sqdZsdc vhsg nldfZ?2 —m?2 OTEö rZo( chrokZxdc rhlhkZq qdsdmshnm hmcdw uZktdr hm bnloZqhrnm sn
ansg rgZl fqntor —m?2 OTEö rZo ur0 nhk rgZl: o < 9031, m?2 OTEö rZo ur0 m?2 OTEö rgZl: o < 9051(0
Nm sgd bnmsqZqx: kdrhnmdc Zfdc lhbd oqd?sqdZsdc vhsg nkhud nhk —nhk rZo( rgnvdc hmedqhnq qdsdmshnm
hmcdw uZktdr dhsgdq vgdm bnloZqdc sn kdrhnmdc Zfdc lhbd oqd?sqdZsdc vhsg m?2 OTEö —o < 90997( Zmc


